Phép cong 2 chr s6

Tén: Ngay thang: Piém:____
10 41 47 92 66
+79 +13 +28 +75 +51
56 21 64 48 20
+54 +81 +37 +37 +39
92 15 96 69 30
+20  +35  +A5 v 498
22 66 74 68 51
+25 +77 +68 +37 +83
75 39 65 25 19
+71 +80 +91 +56 +22
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Phép cong 2 chi s6

Tén: Ngay thang: Piém:____
10 41 47 92 66
39 54 /5 167 117
56 21 64 48 20

+54 +81 +37 +37 +39
110 102 101 85 59
92 15 96 69 30
+20 +35 +45 +44 +98
112 50 141 113 178
22 66 74 68 51
+25 +77 +68 +37 +83
47 143 142 105 134
75 89 65 25 19
+71 +80 +91 +56 +22
146 169 156 31 41

www.snowmath.com


https://www.snowmath.com

